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MAXIMUM RATINGS -
Rating Symbot Value Unit MD1132
Collector-Emitter Voltage VceEo 15 vde
Collector-Base Voltage VcBo 30 Vde
Emitter-Base Voltage VEBO 5.0 Vde CASE 654-07, STYLE 1
Collector Current — Continuous Ic 50 mAdc
One Die | Both Die
Total Devica Dissipation @ TA = 25°C Pp 550 600 | mw Collectar § 7 Collectar
Derate above 25°C 3.14 342 | mwrc
Total Device Dissipation @ T¢ = 25°C Pp 14 20 Watts
Derate above 256°C 8.0 114 [ mWrC
Oerzrr::lt:;?az:gesg:;;%e Junction T4 Tstg 65 to +200 C Emitera 6 Emiter
THERMAL CHARACTERISTICS DUAL
ot Die RF AMPLIFIER TRANSISTOR
Characteristic Symbol | One Die |Equal Power| Unit NPN SILICON
Thermal Resistance, Raic 126 875 °‘CwW
Junction to Case
Thermal Resiatanee Rasalt| 319 22 | oW Refer to MD818 for graphs.
Junction to | Junction to
Amblent Case Unit
Coupling Factors 83 40 %
(1) Raja 1s measured with the device soldered into a typical printed circuit board.
ELECTRICAL CHARACTERISTICS (TA = 25°C unless otherwise noted.)
[ Characterlstlc | symbol Min Typ Max | Unit |
OFF CHARACTERISTICS
Collector-Emitter Breakdown Voltage(2) (Ig = 3.0 mAdc, Ig = 0) V(BRICEO 15 — —_ Vde
Collector-Base Breakdown Voltage (l¢ = 1.0 pAdc, Ig = 0) V(BRICBO 30 - - Vde
Emitter-Base Breakdown Voltage (Ig = 10 pAdc, Ig = 0) V(BRIEBO 5.0 — — Vde
Collector Cutoff Current (V¢ = 16 Vde, Ig = 0) Icao - —_ 10 nAdc
(VcB = 16 Vdc, Ig = 0, TA = 150°C) — — 1.0 pAdc
ON CHARACTERISTICS
DC Current Gain(2} (ic = 1.0 mAdc, Vcg = 5.0 Vde) hgg 50 = - —
Collector-Emitter Saturation Voltage {ic = 10 mAde, Ig = 1.0 mAdc} VCE(sat) —_ 0.2 0.4 Vde
Base-Emitter Saturation Voltage (Ic = 10 mAdc, Ig = 1.0 mAdc) VBE(sat) — 0.7 1.0 Vde
SMALL-SIGNAL CHARACTERISTICS
Current-Gain — Bandwidth Product fr 600 800 —_ -
(Iic = 4.0 mAdc, Vcg = 10 Vdc, f = 100 MHz)
Output Capacitance (Vg = 0, Ig = 0, f = 140 kHz) Cobo — 1.5 3.0 pF
{Vep = 10 Vde, Ig = 0, f = 140 kHz) — 1.3 17
Input Capacitance {Vgg = 0.5 Vdg, Ig = 0, f = 140 kHz) Cibo —_ 1.8 2.0 pF
MATCHING CHARACTERISTICS
DC Current Gain Ratio(3) (ic = 1.0 mAdc, Vcg = 6.0 Vdc) hFE1/hFE2 0.9 - 1.0 —
Base-Emitter Voltage Differential (Ic = 1.0 mAdc, Vcg = 5.0 Vde) VBe1-VaE2l - — 5.0 mVde
Base-Emitter Voltage Differential Change Due to Temperature A{VBe1-VBE2) _mvde
{lc = 1.0 mAdc, Vcg = 5.0 Vdc, TA = —65 to +25°C) - — 0.8
{ic = 1.0 mAde, VCE = 5.0 Vdc, Ts = +25 to +125°C) - - 1.0

{2) Pulse Test: Pulse Width < 300 us, Duty Cycle < 2.0%.
{3) The lowaest hgg reading is taken as hpgq for this ratio.
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